1. 22-9+xy-3y & A5LE)s1H?

@ (x+3)(x+3+y) @ (x+3)(x+3-y)
® (x-3)(x-3-1) @) (x-3)(x+3+)
® (x+3)(x=-3+y)

‘ (x+3)(x=3)+y(x-3)=(x-3)(x+3+y)
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71 a +2ab+b2 (a+0b)?
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(Hh) @® - % = (a+b)(a—b)
(th) »? +(a+b)x+ab—( a)(x+b)
(2H acx® + (ad + bc)x + bd = (ax + b)(cx + d)
@eh. oh @ (1, (°h ® (b, (b
@ (%), (7h © 7h, (=)

¥+ 2xy+y? -1
=(x+y)?-1 - a®>+2ab+b*>=(a+b)? °l&
=(x+y+1(x+y-1) - (@ -b*)=(a+b)(a-b)




3. ¥+ 2xy+y* - 5x-5yE AEootH?

@ (x+y)(x+y-5) @ (x+y)(x+y-10)
® (x=y)(x+y-5) @ (x-y)(x-y-5)

® (x+y)(x—y+10)

‘ (x+y)?-5(x+y) = (x+y)(x+y-5)




4. A%E THL o gste] e A2 Autstelet.

12 - 132 + 152 - 172 4 192 — 212
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= . —192
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= (11-13)(11+13) + (15-17)(1564+17) +
(19 —21) (19 + 21)

= -2(24 + 32 + 40)

=-192
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25 x17-17x12

O 12 @ 9 ® 6 @)3

(28 +11)(28—11)  39x17
(25-12)x 17  13x17




6.  5007x5009+1 ©] oJH 2tAF2] Al FA ufj, of© AALE F5HH?

® 5005 @ 5006 ® 5007 (@)5008 ® 5009

5007 x 5009 + 1 = (5008 — 1)(5008 + 1) + 1
— 50082 — 1 4 1 = 50082




A& o]-8ote] 137 -

® a®+ 2ab+ b? = (a + b)?
@ a*-2ab+ b* = (a-b)?
@)a? - 1* = (a+b)(a-b)

=13+ 12 & AA5t9 ok

@ x*+ (a+b)x+ab=(x+a)(x+b)

® acx® + (ad + be)x + bd =

(ax+b)(cx+d)
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132 -122 = (13 + 12)(13 -12)=134+12=125

weta ol 8 H FAL o

- b? = (a+b)(a-b)oITt.




8. 12-22432-424 ... +15% - 16 9| gt& Fotofat
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> =eh: —136

(1-2)(142)+(3-4) (3+4)+(5—6) (5+6)+ - -+(15-16)(15+16)
=—(14+2+3+44+5+---+15+16)

= —(17x38)

=-136
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X+y=2,x-y=
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(x—1)% -y

¥ -2x+1-y2

(x=1+y)(x=1-y)
=@x+y-Dx-y-1)

2-1)(3-1)
=1x2=2




10. x=3+ v3 9 0, 2%~ 9x + 9 ©] gL Falolat,
>

> HE: 3v3+6
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2x2 - 9x+9 = (2x - 3) (x - 3)
= (6+2V3-3) (3+ V3-3)
= (3+2v3) V3
=3V3+6
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x+y=5,xy=-3< 0 (x-y)?* 9 gte?

O 12 @ 13 ® 25 @ 31

~&B

(x-y)* =22 - 2xy +°
:x2+2xy—|—y2—4xy
= (x+)? - 40y
=52-4x(-3)
=25+12
=37
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2a+3

a=1+v2d,* o e

» cf:
> Hg: 242

afolat,

B

a-2a+3 (a°-2a+1)+2
a-1 N

-1
:(a—l) + 2

a-1
1+ V2-1)2+2

1+vV2-1
V2)? +2
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13.

x=4+ V2 & o, 2 -8x + 15 9] ZH& Latolet.
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(x=5)(x=3) = (4+ V2-5)(4+ V2-3)
=(V2-1)(V2+1) =1




14. a+b=2,a>-p*=10 4 W, a- b °] 3= 5tk

a’>-b?>=(a+b)la-b)=2x(a-b)=10
“a-b=5




15. x2-3x- 1_0°1U41x+ 5 2 @& Fstof=t

» cf:
> g 1




16. 942 -16b2 = -12 0|1 3a—4b =4 A W, 3a + 4b 2] ZF-E Fo}HA?

® 2 @ 3 ® -2 (Ei)—s ® -5

(3a + 4b)(3a — 4b) = —12
~3a+4b=-3




17.

AAE o] Wol7t (a+b)(a+b+1)-30 ©]L, 7k 6] ZO)7} (a+b-5)
d of, o] AAF o] A= o] Aol & oY

® a+b+2 @ a-b+6 ®at+b-6
@a+b+6 ® a-b+5
atb=Az 54

A(A+1)-30 =A2+A-30

— (A+6)(A-5)
= (a+b+6)(atb-5)

w2tA] A 22] Aol a+ b+ 6 ©|th




18. the % x o Tk ol ALY

@x(Qx—1)=3x2+1 @ 3x? +x=3(x—2)?

@ x*-4x+3=1+x* @ 2x*—x=0

® (x=2)(x-5)=x%>-10
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@ 25 —x =0 : AALAA
®7x-20=0:¢ J




QM ax-2y =27} A (a+1, a?) & AT A 3AERES At
e ), ¢ o] LS Fotolat.
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ax-2y=-2°1 4 (a+1,4*) =N

ala+1)-2a>=-2

2+a-2a24+2=0,a2-a-2=0

(@=2)(a+1)=0

a_2_1_,_a——1

ax—2y = -2 7} A 3AFEHE AUA] FodH a < 0 o]BEE
a=-1




@ x? —4x=3x[1] @ x*+2x-8=0[-2]
@ (x+2)2=9x[2] @)2x* ~Tx+6 = 0[2]
@2x2—15x—8:0[8]

@D2x22-7x24+6=0
®2x8-15x8-8=128—120-8=0




21. oAEAA —5x+6_094 e

2ol 2x2—ax+5a+4 =0

%2 —5x+6=0

® 9 213 @G @18 ©2
(x=3)(x-2)=0

X:3E1—1:-x:2

x=27t2x? —ax+5a+4 =09 ZLo|E=Z tfjdstHA

2(22) - 2a+5a+4=0
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PR A 2 4+ dx+ 4 — 0 O] o] o] A4l 342 4 gx—4 = 0 9

2 H+dx+4=0°4 (x+2)2=0

SLox=-2
x=-2212-2a-4=0°] Hd3}tH a =4
Z, 3% +4x-4=0°NA (x+2)(3x-2)=0
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2x2-4x-3=09

D1 @ 2 2)s

x=a 5 WY 20° ~4a-3 =0
E 2a2_4a:3
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@ x=5F=x=3
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202 =x>-5x+6

2 +5x-6=0

0

(x+6)(x—1)

Lx=-6 E=1




25. x?+2x-63=0 9 & Fstoiet

\VARRVARR AN 4
0x
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X2 4+2x-63=0
(x+9)(x-7)=0

Cx=-9F=x=17




